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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

“Urd # omyfie HET i Haifed e YTy FETE RO gRT YaEiaRvie
qHErel &1 "iagrier ® |7 gaTd are fafte i gemar @ 5@ s 1 fae
i | (150 wrsat & I )

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“ard & el & ° e w3 famrer 0 #1 sifter wdw w9 @ aft s
ARTRERT 1 3UeTedl &, foheg 3 Srferepm swefm 7@ & 1 feomoft Hifsrg |
(150 vrsg] # I &)

“Right of movement and residence throughout the territory of India are freely
available to the Indian citizens, but these rights are not absolute.” Comment.
(Answer in 150 words)

HIYh! TF H, WRA | Wfh & faeheiioror 3 sofft-em ® amea-afiges t fea dm
qe ufeafda fohar 8 2 (150 vreal # 3w i)

To what extent, in your opinion, has the decentralisation of powér in India
changed the governance landscape at the grassroots ? (Answer in 150 words)

TS GHT o |HITG % €9 H WG o 39-Ugafa i yftrent 1 feaemn hifsm |

(150 w1t ® IR i)
Discuss the role of the Vice-President of India as the Chairman of the
Rajya Sabha. (Answer in 150 words)

TP fUser at st & @ifaftes e 4 gurfies e § wuiaor = =m § @
BU 39h! YfEeRT o fodem HIfST | (150 wsgt § 3w &ife)
Discuss the role of the National Commission for Backward Classes‘ in the wake

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

Tfd-2feh AT 1 TASTRAT & AL i TTed HA & fIU GepR 3R foft & & Ae
e FH=r i e 8 | faae i | (150 wedt # 3o i)
The Gati-Shakti Yojana needs meticulous coordination between the

government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Ql1.

fesgimar % wed § Wl veiniEl o AmiieRt it Ted gagsfiaar & fan
feeammem sfusr sifufrm, 2016 Haa fafus ey s © S & | feoroft
HfT | (150 weat & IT i)

The Rights of Persons with Disabilities Act, 2016 remains only a legal
document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words)

TIE AT A0 AISHT o HIEAH § ThHT T IawdT § gurR Ush yfasfial wed 2,

fopeg 3ot aro W off § | feoaoft Aifvie | (150 weal # 3w )

Reforming the government delivery system through the Direct Benefit

Transfer Scheme is a progressive step, but it has its limitations too. Comment.
(Answer in 150 words)

“qra sfieiept 1 sEl gOHT i 8 ) qdad e o oaTensh ® AficieRt % adH dehe |
i <t yiftrent ot e i | (150 wreal § IR o)

‘India is an age-old friend of Sri Lanka.’ Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words)

e foam § @1 femws (BIMSTEC) @1 (SAARC) il @ T HMIAL TS
2 239 gF1 & offg w1 GEEA R EHEAT § ? 3@ AT TS b SHIC I I
wre faew ifa 3 3ewa & wre gu € 2 (150 gt § IR §ifvm)

Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the similarities and dissimilarities between the two ? How are Indian
foreign policy objectives realized by forming this new organisation ?

(Answer in 150 words)

e sfafferea arfufem, 1951 % st gug stgan s faaRen & aeei & g9@
¥ I foamgl & faola f gfsen o1 faaem i | fm smami w fereft Fraffem
=ifya yearsht % fafem &1 3= @ifva fean sn awar 2 2 39 Fol & foeg difsa o
1 HH-HT YR I9sY 2 ? 91¢ faftwt o1 g e | (250 wsgt # 3 i)

Discuss the procedures to decide the disputes arising out of the election of a

Member of the Parliament or State Legislature under The Representation of

the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.
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 (Answer in 250 words)r 15
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

"Wmﬁwm%mﬁwﬁmﬁwm | faefRem &

g @ o TsaTet grr sreaeEl % YA e it dgan it o= Hif |
(250 wrsgi © I 2fST)

Discuss the essential conditions for exercise of the legislative powers by the

Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature. (Answer in 250 words)

“ara ¥ Ul ToRfae o e %y § 2, wefe & ow oS- &
gg ® |” feogoft hifsw | (250 wregi # I i)

“While the national political parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

W 3iv i % Toaf & Rt 8 4 Sh T eneeTe v SR |
(250 wsal ¥ I ifor)

Critically examine the procedures through which the Presidents of India and
France are elected. (Answer in 250 words)

AeY ATIR-EFRAT F Igua & ATl §, URa F Fataq s iy & @
It | (250 Fregt # 3R o)

Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

FHATRR A1 o Afdfeh TRa 1 Ta & afera & 31 el i a1 * o
Eehifa 3 SUTTRY % FIt Jau 1 AeavTehar & | == HIfT |
(250 rsa1 # Ie EifSrw)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
society. Discuss. (Answer in 250 words)

1 A9 30 7d ¥ Tewd 7 b foehra &g gran sifreson W sedt i fommma wfsmn
7 aeRes gt % Tawa Y "erd R 2 39 I % ifue = fag il |
(250 3rea1 #§ IR Eifo)

Do you agree with the view that increasing dependence on donor -agencies for
development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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Q18. THelt e & HE™ % IR H IREhd1 39w fohe fomn, s=ai ft e § sron-snetia

Q19.

Q20.

ugfd & dada # fyees it ifard st e o stfoeer stfafam, 2009 smaaia

2 | fovemw i | (250 &g # I Eifw)

The Right of Children to Free and Compulsory Education Act, 2009 remains

inadequate in promoting incentive-based system for children’s education

without generating awareness about the importance of schooling. Analyse.
(Answer in 250 words)

1202 (Y4, $99a, O oRE oG iR 6w Usa omfieh) g dfvas
Taifd # wRa i feufa it e wer wataia s 2 (250 wea) § I §if)

How will I12U2 (India, Israel, UAE and USA) grouping transform India’s
position in global politics ? (Answer in 250 words)

‘e 9l AW I wd g || 4AeHifd & med #, faftm srwidw W=t A
SreraTg aiEdd i fown § 9ra it seedt Hifa w1 gt vl fife |

| (250 wregi # 3o Eifime)
‘Clean energy is the order of the day.” Describe briefly India’s changing policy

towards climate change in various international fora in the context of
geopolitics. (Answer in 250 words)
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